
Class X     Chapter:1       MCQs 
1. Total Number of factors of a prime number is ______. 

ie`k ABwj sMiKAw dy kul _____ guxnKMf huMdy hn[ 
         a)0            b) 1           c) 2        d) 3 

     2. The decimal representation of 
11

23×5
 will  

            
11

23×5
  dw dSmlv pRswr: 

a) Terminate after 1 decimal place. (dSmlv dy 1 sQwn qoN bwAd ruk jWdw hY) 
b) Terminate after 2 decimal places. (dSmlv dy 2 sQwn qoN bwAd ruk jWdw hY) 

c) Terminate after 3 decimal places. (dSmlv dy 1 sQwn qoN bwAd ruk jWdw hY) 
d) not terminate. (rukdw nhIN hY) 

 

3. The LCM of smallest two-digit composite number and smallest composite number is: 

    do AMkW vwlI sB qoN CotI Bwj sMiKAw Aqy sB qoN CotI Bwj sMiKAw dw l.s.v. hY: 
a) 12   b) 4  c) 20  d) 44 

4. If two positive  integers a and b are written as a=x3y2  and b= xy3 where x and y are prime numbers 

then the HCF(a,b) is: 

jykr  a Aqy b do Dnwqmk sMpUrn sMiKAwvW hn ijMnW nUM a=x3y2  Aqy b= xy3 dy rUp iv`c iliKAw jw skdw 
hY ij`Qy x Aqy y Abwj sMiKAwvW hn, qW l.s.v (a,b) hovygw: 
a) xy   b) xy2   c) x3y3   d) x2y2 

5.  7x11x13x15+15 is a 

7x11x13x15+15 ie`k ______ hY[ 
a) Composite number Bwj sMiKAw             b) whole number pUrn sMiKAw        
c) Prime number ABwj sMiKAw       d) both a and b (a Aqy b dovyN) 
 

6. 1.23451326.........is ________. 

1.23451326........ ie`k ______ hY[ 

a) an integer  sMpUrn sMiKAw        b) an irrational number  ApirmyX sMiKAw        
c) a rational pirmyX sMiKAw        d) none of the above iehnW iv`coN koeI nhIN 

7. The product of a non zero rational and an irrational number is: 

ie`k gYr isPr pirmyX sMiKAw Aqy ie`k ApirmyX sMiKAw  dw guxnPl______ huMdw hY             
a) always irrational/hmySw ApirmyX              b) always rational/hmySw pirmyX       

c )   Rational or irrational/pirmyX jW ApirmyX                 d) one/ ie`k 

8. For a positive integer m, every even integer is of the form: 

ie`k Dnwqmk sMpUrn sMiKAw m leI, hryk ijsq sMpUrn sMiKAw _____ rUp dI huMdI hY[ 
a) m  b) m+1     c) 2m  d) 2m+1 

9. For a positive integer q, every odd integer is of the form: 

ie`k Dnwqmk sMpUrn sMiKAw q leI, hryk tWk sMpUrn sMiKAw _____ rUp dI huMdI hY[ 
a) q   b) q+1             c) 2q           d) 2q+1 

10.  Euclid’s division lemma states that for two positive integers a and b, there exists unique integers q 

and r satisfying a=bq+r and: 

Xukilf vMf pRmyiXkw Anuswr do Dnwqmk sMpUrn sMiKAwvW a Aqy b leI do ivl`Kx Dnwqmk sMpUrn 
sMiKAwvW q Aqy r huMdIAW hn ijs leI a=bq+r ijQ̀y: 
a) 0<r<b         b)0<r≤b        c)0≤r<b         d) 0≤r≤b        

 



11.  The Prime factorisation of 3825 is: / 3825 dw ABwj guxnKMfIkrx hY: 

a) 3 × 52 × 21       b) 32 × 52 × 35     c)  32 × 52 × 17       d)  32 × 17 × 19      
 

12. The values of x and y in the figure are: 

id`qy gey ic`qr iv`c, x Aqy y dw mu`l hovygw: 

a) X=10, y=14               b) x=21,y=84    

c)X=21,y=25   d) x=10,y=40 

13.  The HCF of smallest composite number and the smallest prime number 

is......... 

sB qoN CotI Bwj sMiKAw Aqy sB qoN CotI ABwj sMiKAw dw m.s.v. hY: 
a) 0  b)  1   c) 2   d) 3 

14.  If an integer is divided by 2 then the largest possible  remainder is: 

jykr ie`k sMpUrn sMiKAw 2 nwl vMfI jwvy qW v`fy qoN v`fw bwkI sMBv hovygw:  
a) 0  b) 1  c) 2  d) none of these (ienHW ivcoN koeI nhIN) 

15.  LCM of two co-prime number p and q is: 

do sih-ABwj sMiKAwvW p Aqy q dw l.s.v. hovygw: 
a) P+q  b) p-q   c) pq       d) none of these (ienHW ivcoN koeI nhIN) 

16.  Which of the following is a terminating decimal? 

hyT ilKIAW iv`coN ikhVw ie`k SWq dSmlv hY? 

a)
17

12
        b) 

17

24
          c) 

17

8
         d) 

17

28
      

17.  HCF (p,q) X LCM (p,q)=.................... / m.s.v (p,q) x l.s.v (p,q) =_________ 

a) p+q  b) p-q   c) pq  d)none of these (ienHW ivcoN koeI nhIN) 
 

18.  The Prime factorisation of 847 is: / 847 dw ABwj guxnKMfIkrx hY: 

a) 7× 112         b) 7× 11 × 13       c) 11 × 13     d) None of these(ienHW ivcoN koeI nhIN) 

 

19. The values of x and y in the given figure are: 

id`qy gey ic`qr iv`c, x Aqy y dw mu`l hovygw: 

a) 7,13  b) 13,7         c)9,12       d)12,9 

 

 

20.  If p2 is an even integer then p  is an: / jykr p2 ie`k ijsq sMpUrn sMiKAw hY qW p hY: 

a) Odd integer / tWk sMpUrn sMiKAw  b) even integer/ijsq sMpUrn sMiKAw 
c) multiple of 3/ 3 dw guxj   d) None of these/ ienHW ivcoN koeI nhIN 

21.    5-3-2 is an____ /  5-3-2 ie`k ___ hY[ 

a) rational number (pirmyX sMiKAw)   b) irrational number (ApirmyX sMiKAw) 

c) even number (ijsq sMiKAw)   d) prime number (ABwj sMiKAw)  

22.   𝜋 is an_____ / 𝜋 ie`k ___ hY[ 

a) rational number (pirmyX sMiKAw)   b) irrational number (ApirmyX sMiKAw) 

c) even number (ijsq sMiKAw)   d) prime number (ABwj sMiKAw)  

23. The decimal expansion of 𝜋 is  always_____ / 𝜋 dw dSmlv pRswr hmySw ____ huMdw hY[ 

a)Terminating (SWq)                                       b) terminating repeating (SWq AwvrqI) 
c)  Non- terminating non repeating (ASWq AxwvrqI)        d)Non terminating repeating. (ASWq 
AwvrqI) 



24.  Which of the following is false? / hyT iliKAw ivcoN ikhVw glq hY ? 

a) HCF (a,b) x LCM (a,b)= axb/ m.s.v (a,b) x l.s.v (a,b) 
b) HCF (p,q,r)=1, if p, q and r are prime number. /m.s.v (p,q,r) =1 jykr p,q Aqy r ABwj sMiKAwvW 

hn[ 

c) LCM (p,q,r)=1, if p, q and r are prime number. /l.s.v (p,q,r) =1 jykr p,q Aqy r ABwj sMiKAwvW 
hn[ 

d) HCF (p,q,r) x LCM (p,q,r)= p×q×r / m.s.v (p,q,r) x l.s.v (p,q,r) = pxqxr 
 

25.   𝑛2-1  is divisible by 8, if n is_____ / 𝑛2-1 , 8 nwl BwjXog hovygw, jykr n hovy: 

a) an integer / ie`k sMpUrn sMiKAw   b) a natural number / ie`k pRwikRiqk sMiKAw 
c) an odd integer / ie`k tWk sMpUrn sMiKAw  d) an even integer / ie`k ijsq sMpUrn sMiKAw 

26. The least number that is divisible by all the number 1 to 10 is:  / auh sB qoN CotI sMiKAw ikhVI hY, jo 1 
qoN 10 q`k hryk sMiKAw nwl vMfI jw skdI hY ? 

(a) 10  b) 100  c) 504  d) 2520 

27. Every composite number can be written as the product of power of_____ / hryk Bwj sMiKAw ____ 
dI Gwq dy guxnPl dy rUp iv`c ilKI jw skdI hY [ 

a) Composite number / Bwj sMiKAw   b) odd number / tWk sMiKAw 
c) Prime number / ABwj sMiKAw   d) none of these / ienHW ivcoN koeI nhIN 

28.  What is the HCF of two consecutive even number? / do lgwqwr ijsq pRwikRiqk sMiKAwvW dw m.s.v 
kI hovygw ? 

a) 1  b) 2   c) 4  d) 8 

29. What is the HCF of two  consecutive odd number? do lgwqwr tWk pRwikRiqk sMiKAwvW dw m.s.v kI 
hovygw ? 

a) 2  b) 6  c) 3  d) 9 
 

30.  Find the missing number in the given figure.   / ic`qr iv`c AigAwq 

 sMiKAw pqw kro[ 

a)2       b) 6       c) 3        d) 9 

31. If the HCF of two numbers is 1 , then these  two numbers are: / jykr do 
sMiKAwvW dw m.s.v 1 hY, qW ieh do sMiKAwvW hoxgIAw: 

a) Composite (Bwj)    b) Prime (ABwj) 

c) co- prime (sih-ABwj)         d) irrational (ApirmyX) 
32.  Which of the following is not an irrational number? / hyTW iliKAW ivcoN ikhVI ie`k ApirmyX sMiKAw 

nhIN hY? 

a) 36        b)  12        c)    14              d)  21       
 

33.  If p is prime number and p divides k2 then p also divides: / jykr p ie`k ABwj sMiKAw hY Aqy p , k2 nMU 
vMfdw hY, qW p hyT iliKAW ivcoN iks nMU vMfygw[ 

a) 2k2   b) K  c) 3k   d) none of these (ienHW ivcoN koeI nhIN) 
34.  0.1201200120001 is _________ number. / 0.1201200120001 ie`k _______ sMiKAw hY[ 

a) rational number (pirmyX sMiKAw)   b) irrational number (ApirmyX sMiKAw) 
c)  Natural number (pRwikRiqk sMiKAw)  d) prime number (ABwj sMiKAw) 
 

35.  3 5  ×  2 5   is _______ number. / 3 5  ×  2 5  ie`k _______ sMiKAw hY[ 

a) rational number (pirmyX sMiKAw)   b) irrational number (ApirmyX sMiKAw) 
c)  Natural number (pRwikRiqk sMiKAw)  d) prime number (ABwj sMiKAw) 
 



36. The decimal expansion of  
35

40
 is ______. / 35

40
 dw dSmlv pRswr ___ hovygw[ 

a)Terminating (SWq)                                       b) terminating repeating (SWq AwvrqI) 
c)  Non- terminating non repeating (ASWq AxwvrqI)        d)Non terminating repeating. (ASWq 
AwvrqI) 
 

37. Which of the following is not an irrational number? / hyT ilKIAW ivcoN ikhVI ie`k ApirmyX sMiKAw 
nhI hY? 

a) 2+ 7         b) 2- 7          c)( 2+ 7) (2- 7 )         d) 2 7         

38.  A ............ is a self proven statement used for proving another statement. / ie`k ____ ie`k svY isD̀ 
kQn huMdw hY, jo ik iksy hor kQn nMU is`D krn leI vriqAw jWdw hY[ 

a) axiom (svY is`D)   b)theorem (pRmyX) 
c)lemma (pRmyiXkw)   d) algorithm (AYlgoirdm) 


